SUBTRACTING UP TO 1 000 000 WITHOUT CARRYING (H - SET 2)

SUBTRACTING UP TO A MILLION

Name:

Time:

Score:

n 381863 — 361410 =

2 243270 — 220210 =

3 282769 — 1335 =

1364328 — 32005 =

5 290298 — 280051 =

6 742984 — 621331 =

N 709817 — 705801 =

9 205793 — 102261 =

9 494124 — 381123 =

100329626 — 100225 =

1) 351768 — 131254 =

12) 365985 — 115254 =

13914554 — 804501 =

1) 470882 — 120240 =

15 438649 — 300437 =

Mathematics: Subtraction - Level 7 - Horizontal - Set 2
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954458 — 341218 =

759545 — 135014 =

417721 — 13221 =

558602 — 102602 =

563235 — 501014 =

297325 — 112 =

875721 — 513310 =

997554 — 613100 =

265770 — 260110 =

398206 — 118106 =

539541 — 420310 =

647829 — 336512 =

215411 — 113301 =

209292 — 209230 =

347117 — 36010 =
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